Карточки для самостоятельной работы с самопроверкой по образцу.

1 вариант
Работа №1
	
х – 3 = 4
		
	Линия сгиба
	х – 3 = 4 
х = 3 + 4
х = 7      
7 – 3 = 4
4 = 4



	
х – 2 = 6
		
	Линия сгиба
	х – 2 = 6
х = 2 + 6
х = 8      
8 – 2 = 6
6 = 6


							
Работа № 2
	
7 – х = 2			
	Линия сгиба
	7 – х = 2
х = 7 – 2
х = 5      
7 – 5 = 2
2 = 2



2 вариант
Работа № 1
	
8 – х = 3
			
	Линия сгиба
	8 – х = 3
х = 8 – 3
х = 5      
8 – 5 = 3
3 = 3



	
9 – х = 7		
	Линия сгиба
	9 – х = 7
х = 9 - 7
х = 2     
9 – 2 = 7
7 = 7




	Работа № 2
	
х – 2 = 3
	
	Линия сгиба
	х – 2 = 3
х = 2 + 3
х = 5      
5 – 2 = 3
3 = 3










